Grissom Math Tournament

Algebra II Ciphering

March 15, 2003

  S.  Find the sum of the values of x for which the expression 
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 does not exist.

  1.  If (2, a), (3, 5), (b, 11), and (7, 9) are collinear, find a + b.

  2.  If 
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 and a – b = 10, find ab.

  3. Find 
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  4.  Find the numerical perimeter of the rectangle with length 3x + 3, width x, and diagonal 4x – 3.

  5.  The length of the hypotenuse of a right triangle is 2005 and one of the legs has length 2003.  Find the length of the remaining leg.

  6.  When defined, 
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 simplifies to what expression?

  7.  Find x so that log (x + 1) + log (x2 + 2x + 1) = 6.

  8.  If A = 
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, and C = 
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, find x so that 
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 = det A + det B + det C.

  9.  Find the sum of all c so that when 6x2 – x – 40 is divided by x – c, the remainder is 0.

10.  Evaluate the expression when x = -10 and y = 3:  
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11.  Simplify (2i2003 – 5i2002)2.

12.  Find the sum of the coefficients in the expansion of (3x2 + 11x – 2)(5x – 1).

13.  Find the area of the region described by the inequality 50x2 + 8y2 – 200x + 16y < 192.

14.  Solve for x if 
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15. Find the real solution to the equation x3 + 15 = x2 + 7x if 2 + i is one solution to the equation.

16.  In a survey of 637 students, 218 say they play basketball and 321 say they play soccer.  If 38 students play both sports, how many of the students surveyed play neither sport?

17.  Find xy for the system of equations 
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18.  If f(3x – 2) = 2x + 3, find a so that f(a) = 7.

19.  If f(x) = 
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20.  Simplify (3 – 2i)(3 + i)(9 + 6i)(6 – 2i).

21.  Solve for a if 
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22.  If a # b = b2 – a1/3, find 125 # (-8 # 7).

23.  Find the base 10 equivalent of 
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